[[] DO NOW - Geometry Local1 Lomac 2014-2015  Date

(DN)Copy and complete the statement:
In lesson 4.1L, SAS stood for . What will
these abbreviations stand for?

. due . Congruence | 4.4L

Name Per

LO: |can use triangle congruence shortcuts (SAS,
SSS, ASA, AAS, and HL) to prove that two

é‘gé e f‘\iﬁ triangles are congruent.
AAS
HL (this one is a challenge)
[ 1(1) Proving pairs of congruent triangles | M
[] (a) Given: LM=NO, and 2zM=20 N
Prove: AMPL=ANPO P
L
0
| know that. .. because. ..
M N
: —_— L]
[1(b) Given: LM=NO
Prove: ALMO=ANOM T T
L O 0

| know that. ..

because...




4.4L

[ ]1(1) Proving pairs of congruent triangles

—_ S
[] (c) Given: R is the midpoint of PT, 2P=4T, a
£PRQ=£TRS
Prove: APQR=ATSR
P T
R
| know that. .. because. ..
Q S
[] (d) Given: QT bisects SP, SP bisects QT
Prove: AQRP=ASRT R
P T

| know that . .. because...




4.4L

[ ]1(1) Proving pairs of congruent triangles B
[ (e) Given: BA||CD 2ADB=£CBD
Prove: AABD=ACDB

A D
| know that. .. because. ..
L
[](f Given: LM=]M MK LLJ
P : ALKM=AJKM
rove J k2 M
J

| know that. .. because...




4.4L

[](2) Exit Ticket

[ ] Given: BC=EF, zB=<E, and £C=/F
B

A

Prove: AABC=ADEF

[ ]1(3) Homework
(1) leen AB=DE , zB=/E, and AANLD

JANVAN

Prove. AABC=ADBC

| know that. .. because...




4.4L

[ 1(3) Homework
(2)

Given: AB=CD, AD=(CB
B C

A

Prove: AABD=ABCD

| know that . .. because...

3) Given: AE Bisects BD, 2B=/D
A D

B
Prove: AABC=ADBC

| know that. .. because...




